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e Please check that this question paper contains 12 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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Q=T 3397 :
i) @ IeT I |
(i) 97 GEI1-5 7% Td% Uk HF & & | 57 Jo1 & I/ Id 20 931 &

314% T & eT |

(iii) ¥99 &I 6 - 10 TF 9% g IH & 8 | 37 Jo9 & I 9% 40 5] &
3fe 781 &4 TeY |

(iv) 397 &7 11 - 16 7% J4% &R 37H] & 3 | 37 J941 & I/ I9% 100 V5] G
314% T &1 MY |

(v) ¥ H&IT 17 - 21 TF J9% Gier HHl & & | 57 941 & IH I9% 150 Jsg]
& 37fe 787 817 @y |

(vi) 97 G&IT 21 TEE | TENRT F97 & | 398 I 3794 FR-Geaahr 7
ferf&T |

(vii) I97 G&IT 22 - 27 T 9% D: hl & & | 57 1 & I] 9% 150 Jeq] &
3% T &7 T |

General Instructions :
(i) All questions are compulsory.

(it)  Questions number 1-5 are of one mark each. The answers to these
questions should not exceed 20 words each.

(iti)) Questions number 6 - 10 are of two marks each. The answers to these
questions should not exceed 40 words each.

(iv)  Questions number 11 - 16 are of four marks each. The answers to these
questions should not exceed 100 words each.

(v) Questions number 17 - 21 are of five marks each. The answers to these
questions should not exceed 150 words each.

(vi)  Question number 21 is a map-based question. Write its answers in your
answer-book.

(vii) Questions number 22 - 27 are of six marks each. The answers to these
questions should not exceed 150 words each.

1. ‘e i SEEa-dT | d g fRE YRR ATWEE @ ? 1

How is ‘bandwagon’ strategy beneficial within the hegemonic system ?

2.  YNd H 1989 § 2014 % I hl TS hl THRI BT JTT F1 gl AT & ? 1

Why is the period from 1989 to 2014 called an era of coalition
governments in India ?
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3.  offdfes mHEAr @ % fore et ud i gmifea w1 eifaer fefaw | 1

Justify the abolition of Privy Purses for bringing about economic equality.

4. I <Al I gdlcdIad & T8l fohdT STHET Iy 2 1
Why should popular movements not be discouraged ?

5. i 9T I fohd HWT I ATRETE § YS(ATg hl L%, HsHHUT 1 HaH FE®
IR HET ST Hehell B 2 1

How far can Shock Therapy be called the best way to make the transition
from Communism to Capitalism ?

6. ¥ <M W TAEl H W o aTelt wRa i fhedl 9n ueHifae wiidEt
WW' 4)(%:2

Mention any four political parties of India which participated in the first
three general elections.

7. 379 ITEIE % &7 hl UG § & % ¢ Hig a3 AT | 2x1=2

Suggest any two measures to protect your surroundings from pollution.

8. VIR oh AT ST fsd & fohd QI &1 ohl TG T =Tad & 2 2x1=2

The critics of globalisation want which two areas to be revived
economically ?

9. UEE g % ®9 H Ukl Jumell, difedd St & fow emgmfa ik
A =T G FA 51 TS 2 2
Why did the one-party system, represented by the Communist Party,
become a source of dissent and dissatisfaction among the Soviet people ?

10. 3o ORI o fohet Teh TehRrcHes ATTYeh JuTd Wi TI5e SHIfT | 2
Explain any adverse economic impact of Nuclear Weapons.
11. U9 99 o 3 < W TS qAT TSHITdeh THTE! T JUH T | 2+2=4

Describe the economic and political influence of the European Union on
other countries.

12. YRd 3R =4 & &9 faarg o fohegi o) gei ol qui hiferT | 4dx1=4
Describe any four issues of conflict between India and China.

13. YR s gean WiHifd o fohegi qf Teehi <t samea Hifu | 2x2=4
Explain any two components of India’s security strategy.

14. 7SS4 i TN o Fhegl QI ThRIcHD THUMHI hl IATR T | 2x2=4
Highlight any two negative outcomes of the coalition governments.
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15. g & 9o forelt o § 89 a1t 3Ticied aon oy < siarsal dshad i
Hge ST 8 ? ¥ T | 4

How far do movements and protests in a country strengthen democracy ?
Explain.

16. 39 9°Y I IR o IR W TSI TS AN hi TAMGET Sl ==
forg whifT | 4

Justify the constitution of States Reorganisation Commission under the

circumstances prevailing at that time.

17. = feu Tu sraqror i eH @ ufeu iR fefafiga gedi % s AN . 1424225

TIH TS AR 4 AU & g M&0 ... W g S T |

iRt o Ui HT dh o Th Ig I Fogl-A-Fog! THTE HL AT THIH

IR Freft st Sl A Sl S BT I Uehd o ToTT o] 579 T St o |

Jove gg o wifed  dfomm ¥z gen T dfeass weEifd o HE W Q

MR 1 327 & T S fava f fohet oft wer o gwnfad o e

@t of |

() fedfa fova gg & wg Aftas woifa & @9 W 3Ieg gH arelt @
HETITRAT <hl Ug=H <hIfSTT |

(i) 39 3 HEIRAl % 3¢T B o Ry shi SaTEdn hIfU |

(Gii) ¥ wRear favg 4 +&f Wt ged arell gea1eT & S8 Yl s Fehdl
off 2 ¥ SHifST |

Read the given passage carefully and answer the following questions :

The United States dropped two atomic bombs on the Japanese
cities of ..... . The supporters of U.S. have argued that the dropping of the
atomic bomb was necessary to end the war quickly and to stop further
loss of American and Allied lives. ..... the consequence of the end of the
Second World War was the rise of two new powers on the global stage
with the ability to influence events anywhere on earth.

) Identify the two new powers that rose on the global stage after the
Second World War.

(i)  Explain the outcome of the emergence of these two new powers.
(iii)) How could these powers influence events anywhere on earth ?

Explain.
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18. 9 feu staaww =« 9 ufen i fmfaRaa yeai & 3ot dfS . 1+2+2=5

ANTE o oIt fegea™ o amd fash@ & @ wisa 9 | 9l 3qraTel -gsiaral

Hied o7 | AT % Alhat el 3R g® U9 Twlien | J&) Aied A=

T AT | GEU HATSEE] HISHA o1 | 39 Gifedd €Y A A AT | ... 39 o<k

feged™ o 9gd-8 <M foepr® & Hiforrd Aisd § Tl dR 0 yTfad o | U &

H R AT qEl o & T3] dfcsh dIioe 91dl 3R gg Hidd & 48 ah

A 9 | ST T o YSfiardt foehre o e sgd 7 9 |

(i) TdF YRA <% 9@ o= snygfes fowhe % g ATsdl o o9 3R
TS HITY |

(i) 9 A faem % forg wigd i ORI R F=41 2

(i)  YSfardl wisa 1 queH Fgd & HH RA™ Aareti 4 @i o 2

Read the given passage carefully and answer the following questions :

On the eve of Independence, India had before it, two models of modern
development : the liberal — capitalist model as in much of Europe and the
U.S. and the socialist model as in the U.S.S.R. There were many in India
then who were deeply impressed by the Soviet model of development.
These included not just the leaders of the Communist Party of India, but
also those of the Socialist Party and leaders like Nehru within the
Congress. There were very few supporters of the American style
capitalist development.

1) Differentiate between the two models of modern development
under consideration before independent India.

(ii))  Which model of development did India adopt and why ?
(iii)) Why did very few Indian leaders support the capitalist model ?

19. = feu 7o sraquer 1 srewEH hifve qour fFefafgd ge % S AT 2474225

gfeq Tiel Uk hetar ddT o ®9 H IWH off 3N I ARNEAl U TH W
off | 39 QR | qoTd Wfcwddi shal saTQl diEt 7R geliehd &l =t off | 39 ofary
T rTTeh! 3 TR & 9Hl fodt ¥ off a9 1 | g =R |
TR hl hs YgIehemal &l Gfau™ o foeg wm 1 | 09 9l &1 71 o o
JTSTAd hT Ig L&A1 Alhdd o THgral 3T e shl Tar=adl o fd%g & | g o
Ig Y oft R foh STeTed U genfeufaand! gwon & 3 I8 gE T <kl
AN TG AT HeAT0-HRIHAT I AL FHH hHT TG H TS eH @ & | HA
& foquer O S Tt 9, 3% & W o1 foh Wt Wb R bl st ITfereh R Aeet
TEAATA TohaT T TET @ SR UG 88 | STeT SFReTTd gt off Tl 8 |
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()  g=EEl % &9 4 3feu e i fR 31 SuafeEl 4 36 U seak ao
I AR =T &7 feam ?

(i) I AT g JHAYTEF hg IH T fhHl Teh TRl 9@ 6l
TgEH I |

(i) TS Sl AH IFA AT I HeAHR HRHAI Bl IATR HINC g
SHIUH AT BT =gt off |

Study the passage given below and answer the questions that follow :

Indira Gandhi had emerged as a towering leader with tremendous
popularity. This was also the period when party competition became
bitter and polarised. This period also witnessed tensions in the
relationship between the government and the judiciary. The Supreme
Court found many initiatives of the government to be violative of the
Constitution. The Congress party took the position that this stand of the
Court was against the principles of democracy and parliamentary
supremacy. The Congress also alleged that the Court was a conservative
institution and it was becoming an obstacle in the way of implementing
pro-poor welfare programmes. The parties opposed to the Congress felt
that politics was becoming too personalised and that governmental
authority was being converted into personal authority.
(1) Which two achievements of Indira Gandhi as the Prime Minister
made her a towering leader with tremendous popularity ?
(ii)  Identify any one initiative of the government which was found
unconstitutional by the Supreme Court.
(iii) Highlight the pro-poor welfare programmes which the Congress
wanted to implement.

20. feu MU ST w1 srem Hifsre qen fFrafaRad et % 3@ @i 1+2+2=5
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(20.1) = =1 fo@m & fore wmgferat st st g1 T 2
(20.2) @Tfehal o g dfgat | fe@me U fag w1 2 2 3 fag sE- @ snides
formamuatt = gfafafica s 8 2

(20.3) TE IS 1 T el & ?

Study the cartoon given below and answer the following questions :

(20.1) Why has the bicycle been chosen to represent China ?

(20.2) What do the symbols within the two wheels stand for ? Which two
economic ideologies do the symbols represent ?

(20.3) What message does the cartoon convey ?

e : HETfeTiad Fo7 Fac gisaTiaa ghgferal & g, 97 &1 20 & T W& |

Note: The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 20.

(20.1) TYH T A0dehT a9 == 6t e7fels At & = Fm Tse Hifv |
(20.2) IHAT B8 <A1 TGN o FHRIHE THE! Hl ITheH HIT | 2+3=5

(20.1) Differentiate between the economic policy of the U.S. and that of
China.

(20.2) Assess the negative impacts of the rising Chinese economy.

59/2/1 7 P.T.O.
Downloaded From: http://www.cbseportal.com



Downloaded From: http://www.cbseportal.com

21. feu U wraE & UsHifas WEwmtE |, g s s @), @), ©, © au

® g fafed fopen T g | A= @ T STEHH b STUR W e TgEE hifg
3R ITW-YFEdhT H Ik HE M, TRl HU T&AT a1 GrEUd AR Hfgd

fofau - 5x1=5
(i)  JATHT, YR HT 2947 T |

(i) % ST &l HIUH Y1 1 A SAFETH 1959 H 83T |

(ii) 98 Us¥ 58 18 Hal™ TUSY <hal SITdl AT ?

(iv) 98 Usd a8 arardt 4T 3.00. 0. THelurg 1 avey o |
(v) 909 WRA i JIH e W, THHAN ST R H1 T8 T |
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In the given political outline map of India, five States are marked as

@), B, 0, D and® . Identify them with the help of the information

given below and write their correct names in your answer-book along

with the serial number of the information used and the related alphabet

in the map :

(i)  The 29t State of India, Telangana.

(i1))  The State where Nagpur Session of the Congress Party was held in
1959.

(iii) The State which used to be called the Madras State earlier.

(iv) The State to which the Communist leader E.M.S. Namboodiripad
belonged.

(v)  The home State of Rajkumari Amrit Kaur, the first Health

Minister of free India.
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Fig:  [AEliaa 397 o gIEETad et & oG, 397 G 21 F T |
Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 21 :

(21.1) 1960 T a+ft foueft gal 3 <o a1 § 1 fiehT T off 2

(21.2) TS O AATT = HIUH Bl BIGH T TTET hl TATTAT F1 I 2
(21.3) Toemu™ & MR W, 59 9 fohH TR 317 T 4 fie ot 2 2+2+1=5

(21.1) What role did the opposition parties play in the Lok Sabha up to
1960 ?

(21.2) Why did some Congressmen leave the Congress and form the
Swatantra Party ?

(21.3) How was the Jana Sangh different from other parties in terms of

ideology ?

22. UoHIfd® el ¥ TOdF IT<Ial 9 1 STYIE 8 2 39 TR & ATl hl

g faearedt 1 avia i | 2+4=6
areran

1979 ¥ YFY g A QI o fosh@ &1 aui HIN | 1985 § sl

Tsfia e < W1 g I o G TEEH H Ieci@ i | 4+2=6

What is meant by non-party movements ? Describe the main features of such
movements.

OR
Describe the development of Assam Movement from 1979 onwards. State
the main provision of the agreement made with Prime Minister
Rajiv Gandhi in 1985.

23. Hifoaa o) hi gl i fosiwarsti =1 9oia hifSm | 3x2=6
aroat
TSRl bl Bid <X o T B TM3eeH o= o foru o aftfeafaai 4 siex
foram 2 9ol Fhifve | 6
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Describe any three features of the Soviet system.
OR

What circumstances compelled the super-powers to have military

alliances with smaller countries ? Describe.

24. 1971 % TGl § g ieht i A Sfia & fore Ioerht fohedl i went i
ST T | 3x2=6

A AT
1977 % TATE! H HIU U hl TS o fohrgl diF SHRUN ol TIR HINT | 3x2=6

Explain any three factors responsible for the dramatic victory of
Indira Gandhi in the elections of 1971.

OR

Explain any three reasons for the defeat of Congress Party in the 1977
elections.

25. “orliR % WY TGl H YR AT YA o T4 T HEgw@qul & |7

3T 39 AT § TEHA & ? IUYh qohl g 7T I hi gfse FhifT | 6
areran

gfeqor wfSen & <o & Wfiw onfde wgam i U R HH H g@w (k)

fHeRT TR EHIT T Joarend hig | 6

“It is very important for India to improve its relations with the U.S.”. Do
you agree with this statement ? Support your answer with suitable
arguments.

OR

Evaluate the role and limitations of SAARC as a forum for facilitating

economic cooperation among Asian countries.
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26. THHCH fava T T TUeg At ST TEATAT &+ Hged ol AheH I | 6
arera

T, ATdhaTg 3T TEMENT S @ali ol Gepreell i o ol Yid i fhd
bR Sl AT i Trfhehar ¢ T1fge 2 3o gema e | 6

Assess the importance of international organisations like the United
Nations in the contemporary world.

OR

Suggest the type of security India should prefer to fight the threats like
poverty, terrorism and epidemics.

27. AYAIRU I YA i HH TUTTd R 8 3T U dveiontur sl 8 gHTfard st

T8 § ? 3UIYH dohl gRT 310 I < gfE I | 6
aTaT

“arsht frerfal aifr sram-erem e’ — 38 fagra &1 3qe dfed

Tderor HifS | 6

How has globalistion impacted on India and how is India in turn
impacting on globalisation ? Support your answer with suitable

arguments.
OR
Examine the concept of “Common but differentiated responsibilities” with
the help of examples.
59/2/1 12

Downloaded From: http://www.cbseportal.com



